[image: image1.jpg]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


K40S
Kawasaki Vulcan 650 2015-
	LEFT SIDE KIT
	RIGHT SIDE KIT

	
	
	
	
	
	
	
	
	
	

	Pos.
	Popis
	Kat.číslo
	Počet
	
	Pos.
	Popis
	Kat.číslo
	Počet
	

	1
	Bolt M6x25
	877
	3
	
	1
	Bolt M6x25
	877
	3
	

	2
	Bolt M10x70
	851
	1
	
	2
	Bolt M10x70
	851
	1
	

	3
	dural. SL adapter  91mm
	DV346
	1
	
	3
	dural.SL adapter 91mm
	DV346
	1
	

	4
	Washer M10
	804
	1
	
	4
	Washer M10
	804
	1
	

	5
	Safety nut M10
	810
	1
	
	5
	Safety nut M10
	810
	1
	

	6
	Spring washerM10
	801
	1
	
	6
	Spring washer M10
	801
	1
	

	7
	Bolt M8x60
	838
	1
	
	7
	Bolt M8x60
	838
	1
	

	8
	Dural. cylinder 10mm
	1230
	2
	
	8
	Dural. cylinder 10mm
	1230
	2
	

	9
	Washer M8
	802
	2
	
	9
	Washer M8
	802
	2
	

	10
	Bolt M8x40
	828
	1
	
	10
	Bolt M8x40
	828
	1
	

	11
	Dural. cylinder 12,5mm
	1232
	1
	
	11
	Dural. cylinder 17,5mm
	1231
	1
	

	12
	Bolt M5x25 
	1036
	1
	
	12
	Bolt M5x35  
	1035
	1
	

	13
	Bolt M6x16
	1033
	1
	
	13
	3M tape
	
	2
	

	14
	Steel adapter
	719
	1
	
	14
	Steel adapter
	720
	1
	

	15
	Bolt M4x12
	876
	2
	
	15
	Bolt M4x12
	876
	2
	

	
	
	
	
	
	
	
	
	


INSTRUCTIONS
1) Dismantle side fairing on both sides.
2) Unbolt original bolt M8, M6 and M5 on both sides.

3) Put washer ID6 and SL adapter ID3 on bolt ID2. Fit this kit using nut ID5 and washer ID4. Fit this kit on the frame of motorcycle using bolt ID7 and ID10 with washers ID9 and cylinders ID8.

4) In the end fit cylinder ID11 using bolt ID12 on the steel adapter.

5) Check all connections and place fairing back on the bike.
We recommend to use safety glue on all threads (medium strong).
[image: image2.jpg]



[image: image3.jpg]


[image: image4.png]



2

